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Math 085 - Test 5a
December 3, 2013

Part I - Solve each problem. Show all work to receive full credit. Supply explanations where
necessary. Each problem is worth 2 points. CALCULATORS ARE ALLOWED ON THIS

PORTION OF THE TEST.

1. Find the decimal form of 3—;— Round to the nearest ten-thousandth

. //___“ -
g = 0.3783505185... Ofﬁéﬂ

(5—10.04)2 +4+8.7x0.4
e 7
9.6 .S_Ei/

19+137y+73x—1125y+639x—73

2. Compute:

3. Combine like terms:

(13.7-11. 95)5 + (73+é3‘?)x + (1--7.3)
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4. Solve for z:  2.3(z — 5.1) = 5.5z + 9.134
A3x - 173" x + 9,34
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- 9./3¢ -9,/34

5. Find the area of a triangle Whose height is 9.87 cm and whose base measures 5. 62 cm.

(This problem is about a triangle, not a rectangle!) -

ng (2.87cm)( 5. 62cm) =
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Math 085 - Test 5b Name k “35
December 3, 2013 Score

Part II - Solve each problem. Show all work to receive full credit. Supply explanations
where necessary. CALCULATORS ARE NOT ALLOWED ON THIS PORTION OF THE
TEST. For problems requiring work, no credit will be awarded if the work is not shown.

1. (2 points) Write each number in decimal notation.

o -ng =278
173 R
®) 13356000 = f/3. 00/7:3—/{

2. (2 points) Write each number as a fraction in mixed-number form. Do not reduce to
lowest terms.

(a) 8.92

3. (2 points) Round each number to the indicated place.
(a) 378.95632 to the nearest hundredth

2/378. 9%
#(278.%0)
(b) 0.045215 to the nearest tenth
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4. (2 points) Arrange the following numbers in order from least to greatest.

ﬁ\@, 0787, 1008, 108, “0:087

0.087, 0,787, 0.878, 1.008, \.o8

1



/3,873

5. (2 points) Compute eéxch of the following. Y96
(a) 19.873 +4.96 ,QL/ 8 33
=/ 34.833
. . W i3
(b) —7.332 + 5.6948 77 33 25 o
- 5.69H4 ?

(<1 6375] 1637

6. (2 points) Write each fraction in demmal form. Find exact values. Do not round.

7 M“"""’P 0 '»_au..é»m-—-——-
® 5 =[0.38] 95)7.0000
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7. (4 points) Carry out the indicated operation 4o

n

(b) 67.95 +0.0001

(c) 73511 +1000 =
g

(X

(d) 0,00952 x 0.1

! 0. 0003593 f
[

e
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8. (2 points) On her first five quizzes, Jordan scored 8.5, 10, 6.5, 7, and 7.5. Find the
average of Jordan’s quiz scores.

8.6%/0+6:5+7+75  39.8
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9. (2 points) Carry out the indicated operation. ¥ 0.19
(a) 32.5 x 0.19 29 25
6. 17 | 61 7S
(b) 19.98 + (~3.7) SeH
3.7)19.98
f 54 /85
| 48
]48.
10. (2 points) Combine like terms. - o
(a) 3.7z — 5.2y — 1.5z — 3.9y
(8.7-18)x - (5.@+3,cz)3
‘ 90 9 )( - qo \é{/
(b) 3r -+ 6.7t + 5t + 1.9r
"/ 9r o+ // 7 t?
11. (6 points) Solve each equation. Write your solutions in decimal form.
(a) 4.1z + 5.6 =—6.7
5.6 - 5:@
4lx =713
l‘{o[ ‘WH' I
(b) 6z —11 =8z +4 T
= . ax 4\ e
- -4
-5 =ax —
(c) 3(x+2) =5z -7
3x+ 6= 5x-7 ) -
-3x '3)( 3
(.Q = QX - / ‘:ﬁf’? i’i_ e
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12. (1 point) Joe bought 8 notebooks for $6.32. What was the price per notebook?

3)6. 34 Bo.79 on 794
iéw‘ ,L__}.‘ ~~~~~~~~~~~~~ ‘___\‘J
74
13. (1 point) Find and simplify the ratio of 83 to 3%.
T &
- : = 17,5
35 i 3 %79
> = f@g—“f
(38
14. (2 points) Solve each proportion.
(o) 2=

5 ¢ dx = 6O
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[X=20]

) 676 _ 104 0.4« 83.83Y
0 (v &0 104 o
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sl t:8.06 0.4 83,82
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15. (2 points) Charise bought a shirt that was marked $24.95. If tax on the shirt was 8%,
what was her total cost?
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Tax ¢ 82



16.

17.

18.

19.

20.

(2 points) On a map, 0.25in represents 50mi. If two cities are 3.25in apart on the

map, how far apart are they in reality? ©50.
3.395 095)/63,50
0.95 (o 3.95. 00 e 150
P 285 a5 0 '35
50 mi ’ X 193

TR .m.»u.m\‘

[ %= 650m. |
oot J

(1 point) What percent of 5 is 3.57" ]
Xx{5)=3-5 5)‘3'35
5x =3-9 o
S S
Nerres )
= 07 = 70%
(1 point) Write 3 in percent notation.
375 R
8}3,300 2 .0.375 = [37.57
%0 8
h¥o)
No

(1 point) Use 'cheo Pythagorean theorem to find the length of the hypotenuse of a right
triangle whose legs have the lengths a = 12 and b = 5.

it st
\a ¢ o
\MY+ 95 = /69
. ¢ o9 = [ C=13 ij

(1 point) What whole number is closest to V38?7

' 2
Swee 6= 3@ ams 7 =97,
e ——

\ 38 /I Close 706 é.j




